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QUESTION 1

Matt, Jason, Serena, and Rachel were having a discussion as to the highest score on an employment test. The scores
were as follows: 

Matt had 30 out of 40 Jason has 77% Serena has 33 out of 40 Rachel had 

Which list has the names in ascending order based on their test score? 

A. Serena, Rachel, Matt, Jason 

B. Jason, Serena, Rachel, Matt 

C. Serena, Jason, Matt, Rachel 

D. Rachel, Matt, Jason, Serena 

E. Rachel, Jason, Matt, Serena 

Correct Answer: D 

 

 

QUESTION 2

A computer store marks up the price of computer disks 35% per package. You must price some computer disks that
cost the store $8.70. What price should you put on each package? 

A. $3.05 

B. $5.65 

C. $10.88 

D. $11.75 

E. $12.50 

Correct Answer: D 

 

 

QUESTION 3

An auto technician uses a micrometer to make two measurements. The first measurement is 2.374 units and the second
measurement is 3.005 units. What is the total of the two? 

A. 0.626 

B. 0.631 
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C. 4.374 

D. 5.165 

E. 5.379 

Correct Answer: E 

 

 

QUESTION 4

A big screen television priced at $1250 is on sale for $850. Calculate the percent savings. 

A. 16% 

B. 32% 

C. 40% 

D. 56% 

E. 68% 

Correct Answer: B 

 

 

QUESTION 5

A recipe calls for all the liquid ingredients to be mixed together: 2-1/4 cups of water, 4-5/8 cups of chicken stock, and 1/2
cup soy sauce. How many cups of liquid are in the recipe? 

A. 6 cups 

B. 6-7/8 cups 

C. 7-1/4 cups 

D. 7-3/8 cups 

E. 7-3/4 cups 

Correct Answer: D 
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